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N R &
I N & b Bify = B i & %8 &
BIEETR 3,678,304
HEELAE
ABREERAE = 5.00 16,444 82,220 | 1 RS]W
B 82,220
KEE R =
AfRIKZERE km 1.00 24,367 24,367 |5 2 RSB
B 24,367
FAREIE
FAREIE km2 0.05| 13,979,760 698,988 |5 3 REHW
i 698,988
BRIRAI=
E S = 1.00 62,500 62,500 (55 4 RSB
HihpE km 1.20 61,052 73,262 |55 5 RSB
BRIBRTE km 1.20 85,718 102,861 55 6 RSB
IP%E km 1.20 87,518 105,021 |5 7 RS H
b iRAIE km 1.20 246,310 295572 |5 8 RSB
Hitwr Al g km 1.20 151,135 181,362 |55 9 RSR
TEEAE km 1.20 415,672 498,806 |55 10 RS
B 1,319,384
& i 2,124,959
EEE % 731 2,124,959 1,553,345
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N R &
I N & s B HifiT - B @ & & 1%
Tt 3,678,304
ERETEH 6,061,590
EERERET
B EREEHERET (A) km 120 | 1,347,385 1,616,862 |5 11 RSR
g 1,616,862
FERER F#MSE FRSHEEL el 1.00 517,650 517,650 |5 12 RSB
g 517,650
— BB WEEE- TR T ERET
Fh AR MR £l 1.00 216,040 216,040 |55 13 RSB
& 216,040
EEREE 87,723
FHE 87,723
EEAGE 2,262,829
HEE % 120.00 [ 2,262,829 2,715,394
Bz % 20.00 [ 4,978,223 995,644
& 3,711,038
TiEst 6,061,590
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FT1xR(1-2-7) ® i =
AFREAE RIS Mz F 54 35 = HizY
=250 B OB | EAEMA| B F|WEERR
'w oA & 8 b1
30,700 23,600 19,700 17,100 13,200
R 0.5 1.0 0.5 48,800
B A 2.5 2.5 2.0 142,450
g A 3.0 3.0 5.0 215,400
SEEE 0.5 15 2.0 1.0 107,250
N 1.0 8.0 8.0 8.0 0.0 513,900
30,700 188,800 157,600 136,800 0
BHEE = 1.00 * 15,417 = 15,417 513,900 x 3.0%
BIEERE =X 1.00 * 25,695 = 25,695 |513,900 X 5.0%
MHE = 1.00 * 20,556 = 20,556 (513,900 % 4.0%
N 61,668
FHIER= 1.0
HIEREE 1.0 * 575,568 = 575,568
1R 16,444
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25k (1-2-26) i
AfRKZERI = B #AHERE : T H1 R 2 km 1Y
T EBE B OHE | RE W F | EEFXE
E A ® &8 i
30,700 23,600 19,700 17,100 13,200
{EEETE 0.1 0.1 0.1 7.400
B A 0.1 0.1 0.1 6,040
g 0.3 0.3 0.6 23,250
AEEE 0.3 0.3 12,990
N § 0.1 0.8 0.8 0.7 0.0 49,680
3,070 18,880 15,760 11,970 0
HHEE Ea 1.00 * 745 = 745 149,680 X 1.5%
BEEKRE = 1.00 * 993 = 993 [49,680 X 2.0%
MHE 2 1.00 * 2,732 = 2,732 (49,680 X 5.5%
N EE 4,470
M E(CLHEILE= -0.1
HIEFE= 0.9
HIEREE 0.9 * 54,150 = 48,735
TkmZ7-Y 24,367
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% 4% (1-2-36) #® @ &
ERETE [V =)
=257 B OE | B F | HEMEER
' A & #@
30,700 23,600 19,700 17,100 13,200
PEEETE 0.6 1.2 0.8 62,500
8 & 0.6 1.2 0.8 0.0 0.0 62,500
18,420 28,320 15,760 0 0
WIER= 1.0
HIEREE 1.0 * 62,500 = 62,500
1R LY 62,500
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% 5%« (1-2-36) i
WA EBTHIERB : F b 1.2km2 1 km &=l
T EBE B OHE | RE W F | EEFXE
Al ® & i
30,700 23,600 19,700 17,100 13,200
AERER 1.0 1.0 43,300
& 0.0 1.0 1.0 0.0 0.0 43,300
0 23,600 19,700 0 0
HHEE Ea 1.00 * 1,299 = 1,299 43,300 % 3.0%
MHE =X 1.00 * 6,278 = 6,278 143,300 X 14.5%
5 7,577
WIc LS ELE= 0.2
IEFE= 1.2
HIEREE 1.2 * 50,877 = 61,052
Tkm 7= 61,052
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%6 F& (1-2-40) i
WRE HERTIERR - F M : 1.2km2 1 km 7Y
T EBE B OHE | RE W F | EEFXE
Al ® & i A
30,700 23,600 19,700 17,100 13,200
IPRERTE 0.2 0.4 0.3 21,490
i3 = 0.3 0.3 12,990
#R R 0.2 0.4 12,600
RIREE 0.5 0.4 19,680
& 0.2 1.4 1.4 0.0 0.0 66,760
6,140 33,040 27,580 0 0
HHEE Ea 1.00 * 1,001 = 1,001 166,760 X 1.5%
MHE = 1.00 * 3,671 = 3,671 (66,760 X 5.5%
& 4,672
MICLHEILE= 0.2
HIEFE= 1.2
HIEREE 1.2 * 71,432 = 85,718
TkmZ7-Y 85,718

(%) SIPYRT A




Page 5

3%« (1-2-33) i
FARRIE 1/500 : #RTHTIEZE : T #h : 0.05km2 0.05 km2 %7V
T EBE B OHE | RE W F | EEFXE
E A ® &8 i
30,700 23,600 19,700 17,100 13,200
EEEE 0.4 0.7 0.4 36,680
EELEDORAF 0.1 0.7 0.2 19,570
HRER RIS 2.5 6.0 6.0 6.0 359,000
% 1.1 2.6 77,180
g B R B e A 1.3 1.7 54,680
BEFnER 1.0 0.5 33,450
N E 0.4 5.4 115 7.9 6.0 580,560
12,280 127,440 226,550 135,090 79,200
s = 1.00 * 22,561 = 22,561 |501,360 X 4.5%
MHE = 1.00 * 10,027 = 10,027 [501,360 X 2.0%
N EE 32,588
M E(CEHEILE= 0.5
EEEICSDEIEE= 0.76
IEE= 1.14
HIEREE 1.14 * 613,148 = 698,988
Tkm27-Y) 13,979,760
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% 7% (1-2-40) i
IPERE ETHERR - F O : 1.2km2 1 km 7Y
T EBE B OHE | RE W F | EEFXE
L S| ® & i A
30,700 23,600 19,700 17,100 13,200
IPEREEE 0.2 0.2 8,660
IPEE 0.8 0.8 0.8 48,320
1P R IR BT 0.4 0.3 15,350
N § 0.0 1.4 1.3 0.8 0.0 72,330
0 33,040 25,610 13,680 0
BHEE Ea 1.00 * 2,169 = 2,169 172,330 X 3.0%
MHE =X 1.00 * 5,063 = 5,063 (72,330 x 7.0%
N 7,232
WiIc LB EibE= 0.2
HE#R SR (0) ISk ELE= -0.1
HIEFE= 1.1
HIEREE 1.1 * 79,562 = 87,518
Tkm 7= 87,518
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B8k (1-2-42) i
b iREIE HRTIERB - F Hh : 1.2km2 1 km ZHfzY
T EBE B OHE | RE W F | EEFXE
i S| ® &8 i
30,700 23,600 19,700 17,100 13,200
Bl R EEARET 0.3 0.4 14,960
BIERE 2.7 2.7 2.7 163,080
#RAL UL RS R R 0.1 0.2 0.1 8,010
RIREE 0.3 0.3 12,990
N § 0.0 3.4 36 2.8 0.0 199,040
0 80,240 70,920 47,880 0
HHEE Ea 1.00 * 6,966 = 6,966 |199,040 X 3.5%
MHE =X 1.00 * 17,913 = 17,913 199,040 X 9.0%
N 24,879
RIS EILE= 02
HE#R SR (0) ISk ELE= -0.1
HIEFE= 1.1
HIEREE 1.1 * 223,919 = 246,310
Tkm 7= 246,310
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EIFk(1-2-44) i
HERTAIE EBTHIERB : F b 1.2km2 1 km &=l
T EBE B O | BREW| B F|EEFXE
L S| ® & i
30,700 23,600 19,700 17,100 13,200
g 1.4 1.4 1.4 84,560
ik 57 T X 4 R 0.2 0.4 0.4 19,440
RIREE 0.3 0.2 11,020
N § 0.0 1.9 2.0 1.8 0.0 115,020
0 44,840 39,400 30,780 0
BHEE Ea 1.00 * 1,725 = 1,725 |115,020 X 1.5%
MHE =X 1.00 * 9,201 = 9,201 {115,020 x 8.0%
INE 10,926
WIc LB EbE= 0.2
IEFE= 1.2
HIEREE 1.2 * 125,946 = 151,135
Tkm 7= 151,135
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%10 & (1-2-44) ® i =
HETAE EBTHIERB : F b 1.2km2 1 km &=l
T EBE B OHE | RE W F | EEFXE
Al ® & i
30,700 23,600 19,700 17,100 13,200
g 4.2 42 42 253,680
T R 1R AL 1.8 15 61,110
RIREE 0.7 0.7 30,310
& 0.0 49 6.7 5.7 0.0 345,100
0 115,640 131,990 97,470 0
BHEE Ea 1.00 * 5176 = 5,176 345,100 x 1.5%
MHE =X 1.00 * 27,608 = 27,608 /345,100 x 8.0%
& 32,784
WIc LB EbE= 0.2
HE#R SR (0) ISk EILE= -0.1
HIEFE= 1.1
HIEREE 1.1 * 377,884 = 415,672
Tkm 7= 415,672
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11 % (3-2-7) i
EIRFEMERET (A) 1 km Szl
FHEENE | HEAR THEEE | BEA) Hm(B) A (C) HiNg S2ET
' oA & 8
55,200 53,000 46,300 40,100 31,200 25,900 21,500 17,100

EREtETE 0.5 0.5 1.0 2.5 167,750
Bk E 0.5 0.5 0.5 48,600
T E T ERE 0.5 1.0 2.0 2.0 1.0 1.0 216,050
EHEE 0.5 1.5 25 3.0 2.0 230,300
EBRAHEEY 0.5 1.0 2.0 2.0 15 171,700
fRERIBIEY) 0.5 1.0 41,500
EREt 1.5 25 92,600
BEHE 0.5 1.0 3.0 4.0 214,950
BE 0.5 1.0 63,250
MEBER 0.5 15 2.0 1.0 171,600

& & 0.0 0.5 2.0 6.5 11.0 13.5 12.5 45 1,418,300

0 26,500 92,600 260,650 343,200 349,650 268,750 76,950

BRH(1~2)CKHBE= -0.05
FHIEE= 0.95
HIEHREET 0.95 * 1,418,300 = 1,347,385
Tkm¥f=Y 1,347,385
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® 12 & (3-2-12) i
FEXRE R FHEET PREsEL 1 &P
FHEEME | BREOE FEEA | BE(A) B (B) A (C) B8 S2ET
& ® &8
55,200 53,000 46,300 40,100 31,200 25,900 21,500 17,100

I - HERTER & 0.5 0.5 0.5 0.5 0.5 82,500
HEERE 0.5 0.5 0.5 0.5 59,350
RERBE-BERT 0.5 0.5 0.5 0.5 59,350
IMEIEYIERET 0.5 0.5 1.0 50,050
FHEKERE 0.5 12,950
ERETE 0.5 0.5 0.5 0.5 59,350
RAR R L DGR 0.5 0.5 28,550
HEHE 0.5 1.0 1.0 63,000
BE 0.5 0.5 43,200
HMEEERK 0.5 0.5 0.5 0.5 59,350

= 0.0 0.0 1.0 3.0 4.0 50 45 0.0 517,650

0 0 46,300 120,300 124,800 129,500 96,750 0

HIEFE= 1.0
HIEREE 1.0 * 517,650 = 517,650
1T =Y 517,650
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%13 % (3-2-31) i
B ARG 1 &fr H7zY
THEEME | HAR TR | HER(A) | EER(B) | HAE(C) Bl R #HET
7 A & &8 i A
55,200 53,000 46,300 40,100 31,200 25,900 21,500 17,100
EXETETEI 0.5 23,150
REtEH DR 0.5 20,050
RETEE 0.5 1.0 41,500
AT 1.0 15 1.0 91,550
HEHE 0.5 1.0 34,450
BE 0.5 20,050
BREEER 0.5 0.5 0.5 39,300
8 & 0.0 0.0 0.5 1.0 2.0 3.5 2.5 0.0 270,050
0 0 23,150 40,100 62,400 90,650 53,750 0
RIS KDMEIE= -0.2
1-0.2= 038
HIER= 0.8
HIERAE 0.8 * 270,050 = 216,040
TERTS7=Y 216,040
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